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(All answers must be written on the answer booklet provided to you.)

I. Name the following:

SECTION I

1. The international boundary between Canada and USA -
2. Young fold mountains that run parallel to the west coast of North America-
3. Plateau that lies between the Appalachians and the narrow coastal plains found in

the East-

()

4. An Indian tribe living in the South-western part of the United States-
5. One of the world’s busiest and the largest railway junction-

II. Match the following: (3
A B
1. Montreal a. West Indies
2. Caribbean islands b. Prairies
3. Inuits c. Greatest Canadian port
4, Canadian shield d. The Golden Gate Bridge
5. San Francisco e. Laurentian plateau
6. Central Lowlands f. Eskimos
1. - i 4. 5. 6.
II1L. Fill in the blanks to complete the table.
Give any 1 detail for each. 4)
Climate type Area Characteristics Vegetation Wildlife
Summers: Polar  bears,
Tundra ) short and cool walrus, Arctic
Winter: long and fox , seals and
very cold reindeer.
Prevails in the | Winter:
Continental | Interior parts Rattle snake,
climate which are far | Summer: wild cats.
from the sea
Southern Mahogany.
Mexico, Rubber,
Central ebony,
America  and | Rainfall: sugarcane
Caribbean
islands




IV. State whether True or False, If False correct the underlined word. 4)
1. Jamaica is known as the ‘Sugar Bowl of the world.’-

2. Virginia produces a superior quality of tobacco.-

3. Barley is the main food of the Mexicans.-

4. One of the best wheat growing regions in the continent are the Prairies.-

SECTION 11
V. Give geographical reasons: [6]
1. North America has prospered economically. )
2. The ocean currents have an effect on the rainfall and the temperature of the
coastal areas. (2)
3. North America is a leading producer and exporter of food grains. 2)
VL. Differentiate between the following: (1 point each) [4]

1. Rocky mountains and Appalachian highlands.
2. Winter wheat and Spring wheat.

VII. Answer the following in brief: [11]

1.Which are the three agricultural belts in the cool temperate zone of the continent?
(1 %)

2. Name the rain bearing winds that bring rainfall in North America. (2)

3. Why is the Mississippi Basin an ideal region for cotton production? (1%)

4. Why was the Panama canal constructed? 2)

5. With reference to lumbering, answer the following questions: [4] |
a. In which season is lumbering done? (*2)

b. Where do the lumberjacks live? (%) |

c. Why are lumber camps located near rivers? (1)

d. Which is the first group of the lumberjacks? (%) |
e. What is the leader of the lumberjacks called? (%2)
f. What is a notch? (1)

SECTION III
A. On a political map of North America, mark, label and shade the following.
(13]

I. Countries (3)
1. Alaska

2. Honduras

3. Costa Rica
II. Capitals (2)
1. Ottawa

2. Mexico City



I11. Waterbodies: (4)
1. Hudson Bay

2. Gulf of California
3. Lake Huron

4. Lake Great Slave
IV. Islands: (4)

1. Vancouver

2. New Foundland

3. The Bahamas

4. Puerto Rico

B.On the physical map of North America provided to you, mark, label and
shade the following: [6]
I. Mountains: (2)

1. Rockies

2. Canadian Shield

3. Appalachian highlands
4. Mt. Mckinley

I1. Plateau: (1 %2)

1. Mexican plateau

2. Piedmont plateau

3. Labrador plateau

I Rivers: (2)

1. R. Mackenzie

2. R. Athabasca

3. R. Missouri

4. R. Arkansas

IV. The Great Basin (1/2)

C. On the map of North America provided to you, mark, label and shade the
following: (4]
1. Rainfall: A region with 100-200cm rainfall south of the continent. (1)

2. Ocean currents: Warm Pacific Current. (1)

3. Winds: North East Trade Winds (1)

4. Vegetation: Mediterranean region (1)
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